U2 - Rejoice  [Key A min]
Chords Am and Dsus2 are in the first position, other chords in Maj are all in barre (EMaj form),  
[bookmark: _GoBack]so A (5°fret) D (10°fret), C (8°fret); listen to the original song for the correct timing - assume 8/8 Bars lenght. 
MAIN RIFF = INTRO x 2 Times (1 only Guitar + 1 with Bass&Drums) (4 Bars x 2)
[image: ]
	VERSE 1 (4 Bars)
 
	|Am

	               It's         f
	alling it's falling



	                                                      |D sus2
	

	And outside a buildings comes tumbling down  
	



	 
	|Am                              (Am7)

	And ins
	ide a child on the ground 



	 
	|D sus2

	Says he'd do it again 
	



	 CHORUS 1(4+2 Bars)
	|     A (accent on 2/8)

	And what am     I to do
	



	 
	G   (accent on 7/8)     |     D (accent on 2/8)
	

	 
	What in the world               am I to          s
	ay 



	       C (accent on 7/8)     
	   |     A (accent on 2/8)
	

	 There's    nothing 
	else to do
	



	 
	G (accent on 7/8) |        D (accent on 2/8)
	

	He say
	s he'll change the world someday
	



	 
	    C (accent on 7/8) |   C (in first pos.
	 with pull off towards Am)

	I 
	    re   -     joice
	 

	
	



    |  ONLY DRUMS FILL   |
        VERSE 2 (4 Bars)

	This 
	morning I fell out of my bed when I woke up 



	To what he has said 



	And maybe it's crazy 



	But I'm too lazy to lie 

	CHORUS 2 (6+2 Bars)
And what am I to do 



	Just tell me what amI supposed to say 



	I'll can't change the world 



	But I can change the world in me 



	I r
	ejoic
	e 


 uoh oh oh oh oh
	
	
	
	
	

	
	
	
	
	

	R
	ejoice... oh
	 Re   jo
	ice  


INTERLUDE (Am chords staccato x 2 Bars)
MAIN RIFF again (4 Bars)
CHORUS 3 (4+2 Bars)
	And what am I to do 



	Just tell me what amI supposed to say 



	I'll can't change the world 



	But I can change the world in me 



	I rejoice 


DRUMS FILL with Guit Arpeggio 
[|Am C |G D2 |Am9 x 8|]
	OUTRO (2 Bars x 8) [|Am        |D D4 D C9 C9/B G]
I don't know what to change 



	 Rejoice (8 times)
	
	 
	

	..
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